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1. AZOE A A, y, 2o ot 8 +y% + 23 = 3xyz & ST o,
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2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0
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Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
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a’b+ab* = be(b+ ¢) — ac? + a*c = 0
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a’® +a?b—ac® +ab®> + b —bc? =0

a*(a+b) +b*(a+b) - c*(a+b) =0

(a+b)(a*+b2-c?) =0

a=-b B 2 =d*+b?

a,b,c B FolB g2 2 = 42 + p?
(C=90°% A7ty




4232 +9= (> +ax+b)(x*> +cx+d) 2 AFESE W, |ab - cd
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(Z4]) = (2 +3)2 - (20)?

= (x® 4+ 2x + 3)(x* — 2x + 3)
o714 Ao Hl sk
a=2,b=3,c=-2,d=3
“lab—cd| = 2% 3~ (~2) x 3| = 12
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